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Problem 9.2 (Prob. 30. P. 252) suppose that a projectile of mass 1 moves in a vertical plane in the
atmosphere near the surface of the earth under the influence of two forces: a downward gravitational
force of magnitude mg, and a resistive force F that is directed opposite to the velocity vector v and has

magnitude kv’ (where v=|v| is the speed of the projectile). Show that the equations of motion of the

projectile are

Problem 9.3 Use Laplace Transform to find the particular solutions of the following systems

X'=-y

y'=13x+4y
x(0)=0
y(©0)=3

Problem 9.4 (Prob. 31, P. 465) Use Laplace Transform to find the particular solution of the following
VP

"ex"—6x'=0
©0)=0
x(0)=x"(0)=1

Problem 9.5 (Prob. 33. P. 474) Use Laplace Transform to solve the following DE:
- 2x'-tr=0




